
Figure S2: Calculation of PPV, NPV and proportion of patients without reliable diagnosis for given prevalence. D- disease controls, D+ CD patients, T- test negative, T+ test positive, T? test result in grey zone, FN-false negative, FP-false negative, TN- true negative TP- true positive. 
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= Prev * (1-Sens-aSens) + (1-Prev) * (1-Spec-aSpec)

PPV =pr(D+T+) =p11/p.1
= TP/ all test positive children
= Prev * Sens / (Prev*Sens + (1-Prev )*aSpec)

NPV =pr(D-1T-) =p00/p.0
= TN/ all test negative children
= (1-Prev) * Spec / ((1-Prev) * Spec + Prev *aSens)




